

A TRANSFORMATION FORMULA ASSOCIATED WITH THE GENERALIZED HYPERGEOMETRIC SERIES

KEUMSIK LEE, YOUNG JOON CHO, AND TAE YOUNG SEO

ABSTRACT. The authors aim at presenting a presumably new transformation formula involving generalized hypergeometric series by making use of series rearrangement technique which is one of the most effective methods for obtaining generating functions or other identities associated with (especially) the hypergeometric series. They also consider a couple of interesting special cases of their main result.

1. Introduction and Preliminaries

The generalized hypergeometric function with p numerator and q denominator parameters is defined by

$$(1.1) \quad {}_pF_q \left[\begin{matrix} \alpha_1, \dots, \alpha_p; \\ \beta_1, \dots, \beta_q; \end{matrix} z \right] = \sum_{k=0}^{\infty} \frac{(\alpha_1)_k (\alpha_2)_k \cdots (\alpha_p)_k z^k}{(\beta_1)_k (\beta_2)_k \cdots (\beta_q)_k k!},$$

where $(\alpha)_n$ denotes the Pochhammer symbol (or the shifted factorial) defined by

$$(1.2) \quad (\alpha)_n := \begin{cases} \alpha(\alpha+1)\cdots(\alpha+n-1) & \text{if } n \in \mathbb{N} := \{1, 2, 3, \dots\}, \\ 1 & \text{if } n = 0. \end{cases}$$

In terms of the familiar Gamma function $\Gamma(z)$ with its fundamental functional relationship $\Gamma(z+1) = z\Gamma(z)$, $(\alpha)_n$ can be rewritten in the form:

$$(1.3) \quad (\alpha)_n = \frac{\Gamma(\alpha+n)}{\Gamma(\alpha)}.$$

Received May 17, 2000. Revised September 25, 2000.

2000 Mathematics Subject Classification: Primary 33C90; Secondary 33B15, 33C05.

Key words and phrases: hypergeometric series, Srivastava and Panda's function, Whipple's transformation formula.

There are several useful equivalent expressions of Γ whose Weierstrass canonical product form is given by

$$(1.4) \quad \{\Gamma(z)\}^{-1} = ze^{\gamma z} \prod_{k=1}^{\infty} \left(1 + \frac{z}{k}\right) e^{-\frac{z}{k}},$$

γ being the Euler-Mascheroni constant defined by

$$(1.5) \quad \gamma = \lim_{n \rightarrow \infty} \left(\sum_{k=1}^n \frac{1}{k} - \log n \right) \cong 0.577215664901532 \dots$$

From (1.2), it is easy to deduce the following elementary yet useful identity (in particular) in carrying out the above-mentioned series rearrangement technique:

$$(1.6) \quad (\alpha)_{n-k} = \frac{(-1)^k (\alpha)_n}{(1-\alpha-n)_k} \quad (0 \leq k \leq n; k, n \in \mathbb{N}).$$

For $\alpha = 1$, we have

$$(1.7) \quad (n-k)! = \frac{(-1)^k n!}{(-n)_k} \quad (0 \leq k \leq n),$$

which may alternatively be written in the form:

$$(1.8) \quad (-n)_k = \begin{cases} \frac{(-1)^k n!}{(n-k)!} & (0 \leq k \leq n), \\ 0 & (k > n). \end{cases}$$

Recall the generalized binomial theorem

$$(1.9) \quad (1-z)^{-a} = \sum_{k=0}^{\infty} \frac{(a)_k}{k!} z^k \quad (|z| < 1).$$

Two well-known series manipulation formulas were recorded in various literature (*cf.* Rainville [5, pp. 56–57]):

$$(1.10) \quad \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} A_{k,n} = \sum_{n=0}^{\infty} \sum_{k=0}^n A_{k,n-k}$$

and (in what follows, $[x]$ denotes the greatest integer part in x)

$$(1.11) \quad \sum_{n=0}^{\infty} \sum_{k=0}^n A_{k,n} = \sum_{n=0}^{\infty} \sum_{k=0}^{[\frac{n}{2}]} A_{k,n-k},$$

which were also presented in the work of Choi and Seo [3] who investigated many other such formulas rather systematically.

Srivastava and Panda [7, p. 423, Eq. (26)] presented a definition of a general double hypergeometric function:

$$(1.12) \quad \begin{aligned} &F_{l:m;n}^{p:q;k} \left[\begin{matrix} (a_p) : (b_q) ; (c_k) ; \\ (\alpha_l) : (\beta_m) ; (\gamma_n) ; \end{matrix} x, y \right] \\ &= \sum_{r,s=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{r+s} \prod_{j=1}^q (b_j)_r \prod_{j=1}^k (c_j)_s}{\prod_{j=1}^l (\alpha_j)_{r+s} \prod_{j=1}^m (\beta_j)_r \prod_{j=1}^n (\gamma_j)_s} \frac{x^r y^s}{r! s!}, \end{aligned}$$

where the several cases of convergence conditions are given in [6, p. 64].

The object of this note is to present a presumably new transformation formula associated with generalized hypergeometric series expressed in terms of the above-recalled Srivastava and Panda's function (1.12), which is more general than the one defined by Kampé de Fériet [4] (*cf.* Appell and Kampé de Fériet [1, p. 150, Eq. (29)]), by making use of series rearrangement technique which is one of the most effective methods for obtaining generating functions or other identities involving (especially) the hypergeometric series. A couple of interesting special cases of our main result allied to a known identity are also considered.

2. A Transformation Formula

We start with defining, for convenience, by

$$(2.1) \quad \begin{aligned} S(x, t) &:= {}_pF_q \left[\begin{matrix} a_1, a_2, \dots, a_p; \\ b_1, b_2, \dots, b_q; \end{matrix} t(1-x+tx) \right] \\ &= \sum_{n=0}^{\infty} \frac{(a_1)_n (a_2)_n \cdots (a_p)_n \{(1-x) + tx\}^n}{n! (b_1)_n (b_2)_n \cdots (b_q)_n} t^n. \end{aligned}$$

By employing the binomial theorem in (2.1), and using (1.11), (1.6) and (1.7), we obtain

$$(2.2) \quad S(x, t) = \sum_{n=0}^{\infty} {}_{q+2}F_p \left[\begin{matrix} -\frac{n}{2}, -\frac{n}{2} + \frac{1}{2}, 1 - b_1 - n, 1 - b_2 - n, \dots, 1 - b_q - n; \\ 1 - a_1 - n, 1 - a_2 - n, \dots, 1 - a_p - n; \end{matrix} \right. \\ \left. (-1)^{p+q} \frac{4x}{(1-x)^2} \right] \frac{(1-x)^n (a_1)_n (a_2)_n \cdots (a_p)_n t^n}{(b_1)_n (b_2)_n \cdots (b_q)_n n!}.$$

On the other hand, by applying the binomial theorem in (2.1) repeatedly, we find that

$$S(x, t) = \sum_{n=0}^{\infty} \frac{(a_1)_n (a_2)_n \cdots (a_p)_n [1 - x(1-t)]^n}{n! (b_1)_n (b_2)_n \cdots (b_q)_n} t^n \\ = \sum_{n=0}^{\infty} \sum_{k=0}^n \sum_{j=0}^k \frac{(-n)_k (-1)^j (a_1)_n (a_2)_n \cdots (a_p)_n x^k}{n! j! (k-j)! (b_1)_n (b_2)_n \cdots (b_q)_n} t^{n+j},$$

which, upon making use of the following series rearrangement identity:

$$(2.3) \quad \sum_{k=0}^n \sum_{j=0}^k B_{k,j} = \sum_{j=0}^n \sum_{k=j}^n B_{k,j},$$

immediately yields

$$(2.4) \quad S(x, t) = \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{k=j}^n \frac{(-n)_k (-1)^j (a_1)_n (a_2)_n \cdots (a_p)_n x^k}{n! j! (k-j)! (b_1)_n (b_2)_n \cdots (b_q)_n} t^{n+j}.$$

If we apply (1.11) to the first double summation of (2.4) and set $k - j = k'$ in the third summation of the resulting series and then drop the prime on k , we readily get

$$(2.5) \quad S(x, t) = \sum_{n=0}^{\infty} S_I(x) \frac{t^n}{n!},$$

where, for convenience,

$$(2.6) \quad S_I(x) := \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \sum_{k=0}^{n-2j} \frac{(-n)_k (-n+k)_{2j} \prod_{i=1}^p (a_i)_{n-j} x^{k+j}}{j! k! \prod_{i=1}^q (b_i)_{n-j}}.$$

It is not difficult to see that

$$(2.7) \quad \frac{(-n)_{2k} (-n+2k)_{2j}}{(1)_{2k}} = \frac{2^{2j} (-\frac{n}{2})_{k+j} (-\frac{n}{2} + \frac{1}{2})_{k+j}}{(\frac{1}{2})_k k!}$$

and

$$(2.8) \quad \frac{(-n)_{2k+1} (-n+1+2k)_{2j}}{(1)_{2k+1}} = -\frac{n 2^{2j} (-\frac{n}{2} + \frac{1}{2})_{k+j} (-\frac{n}{2} + 1)_{k+j}}{(\frac{3}{2})_k k!}.$$

In view of the familiar identity

$$(2.9) \quad \sum_{k=0}^n A_k = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} A_{2k} + \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} A_{2k+1} \quad (n \in \mathbb{N}),$$

the inner sum of (2.6) is separated into even and odd parts so that, using (2.7), (2.8), and (1.6), $S_I(x)$ can be expressed in terms of Srivastava and Panda's function defined by (1.12):

$$(2.10) \quad S_I(x) = \frac{(a_1)_n (a_2)_n \cdots (a_p)_n}{(b_1)_n (b_2)_n \cdots (b_q)_n} [P(x) - nx Q(x)],$$

where, for convenience,

$$(2.11) \quad \begin{aligned} &P(x) \\ &:= F_{0;p;1}^{2;q;0} \left[\begin{matrix} -\frac{n}{2}, -\frac{n}{2} + \frac{1}{2} : 1 - b_1 - n, \dots, 1 - b_q - n; -; \\ - : 1 - a_1 - n, \dots, 1 - a_p - n; \frac{1}{2}; \\ (-1)^{p+q} 4x, x^2 \end{matrix} \right] \end{aligned}$$

and

$$\begin{aligned}
 & Q(x) \\
 (2.12) \quad & := F_{0:p;1}^{2:q;0} \left[\begin{matrix} -\frac{n}{2} + \frac{1}{2}, -\frac{n}{2} + 1 : 1 - b_1 - n, \dots, 1 - b_q - n; -; \\ - : 1 - a_1 - n, \dots, 1 - a_p - n; \frac{3}{2}; \\ (-1)^{p+q} 4x, x^2 \end{matrix} \right].
 \end{aligned}$$

Now put (2.10) into (2.5) and equate the coefficients of t^n in the resulting equation and (2.2). We finally obtain an (presumably new) interesting transformation formula for the generalized hypergeometric series:

$$\begin{aligned}
 (2.13) \quad & {}_{q+2}F_p \left[\begin{matrix} -\frac{n}{2}, -\frac{n}{2} + \frac{1}{2}, 1 - b_1 - n, \dots, 1 - b_q - n; \\ 1 - a_1 - n, \dots, 1 - a_p - n; \end{matrix} (-1)^{p+q} \frac{4x}{(1-x)^2} \right] \\
 & = (1-x)^{-n} [P(x) - nx Q(x)],
 \end{aligned}$$

where $P(x)$ and $Q(x)$ are defined by (2.11) and (2.12).

Choosing

$$(2.14) \quad p - 1 = 1 = q, \quad b_1 = \gamma, \quad a_1 = \gamma - b, \quad \text{and} \quad a_2 = \gamma - c$$

in (2.13) and considering an identity in Rainville [5, p. 106, Example 8], we also get a simpler yet interesting transformation formula for ${}_3F_2$:

$$\begin{aligned}
 (2.15) \quad & \sum_{k=0}^n \frac{(-1)^{n-k} (\gamma - b - c)_{n-k} (\gamma - b)_k (\gamma - c)_k x^{n-k}}{k! (n-k)! (\gamma)_k} \\
 & \cdot {}_3F_2 \left[\begin{matrix} -k, b, c; \\ 1 - \gamma + b - k, 1 - \gamma + c - k; \end{matrix} x \right] \\
 & = \frac{(\gamma - b)_n (\gamma - c)_n}{n! (\gamma)_n} [A(x) - nx B(x)],
 \end{aligned}$$

where, for convenience,

$$\begin{aligned}
 (2.16) \quad & A(x) \\
 & := F_{0:2;1}^{2:1;0} \left[\begin{matrix} -\frac{n}{2}, -\frac{n}{2} + \frac{1}{2} : & 1 - \gamma - n; -; \\ - : 1 - \gamma + b - n, 1 - \gamma + c - n; \frac{1}{2}; & -4x, x^2 \end{matrix} \right]
 \end{aligned}$$

and

(2.17)

$B(x)$

$$:= F_{0;2;1}^{2;1;0} \left[\begin{matrix} -\frac{n}{2} + \frac{1}{2}, -\frac{n}{2} + 1 : & 1 - \gamma - n; -; & -4x, x^2 \\ - & : 1 - \gamma + b - n, 1 - \gamma + c - n; \frac{3}{2}; & \end{matrix} \right].$$

It is noted that the special case of (2.15) when $\gamma = b + c$, with the left-handed member of (2.13) replaced by (2.14), yields the familiar transformation formula for ${}_3F_2$ due to Whipple [8, p. 267, Eq. (7.1)]: For $n \in \mathbb{N}_0$, and b and c being independent of n ,

$$(2.18) \quad \begin{aligned} & {}_3F_2 \left[\begin{matrix} -n, & b, & c; & x \\ & 1 - b - n, & 1 - c - n; & \end{matrix} \right] \\ &= (1 - x)^n {}_3F_2 \left[\begin{matrix} -\frac{1}{2}n, & -\frac{1}{2}n + \frac{1}{2}, & 1 - b - c - n; & \frac{-4x}{(1 - x)^2} \\ & 1 - b - n, & 1 - c - n; & \end{matrix} \right], \end{aligned}$$

which also appears in the work of Rainville [5, p. 88] who proved it by making use of the series rearrangement technique. It is also interesting to check that the special case of the right-hand side of (2.13) when $p - 1 = 1 = q$, $a_1 = b$, $a_2 = c$, and $b_1 = b + c$ readily reduces to the right-hand side of (2.18).

References

- [1] P. Appell et J. Kampé de Fériet, *Fonctions Hypergéométriques et Hypersphériques Polynomes D'Hermite*, Gauthier-Villars, Paris, 1926.
- [2] Y. J. Cho, *An identity involving the generalized hypergeometric series*, Comm. Korean Math. Soc. **14** (1999), 635-639.
- [3] J. Choi and T. Y. Seo, *Formal manipulations of double series and their applications*, Pusan-Kyongnam Math. J. **11** (1995), 259-269.
- [4] J. Kampé de Fériet, *Les fonctions hypergéométriques d'ordre supérieur à deux variables*, C. R. Acad. Sci. Paris **173** (1921), 401-404.
- [5] E. D. Rainville, *Special Functions*, The Macmillan Company, New York, 1960.
- [6] H. M. Srivastava and H. L. Manocha, *A Treatise on Generating Functions*, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane, and Toronto, 1984.
- [7] H. M. Srivastava and R. Panda, *An integral representation for the product of two Jacobi polynomials*, J. London Math. Soc. **12** (1976), no. 2, 419-425.

- [8] F. J. W. Whipple, *Some transformations of generalized hypergeometric series*, Proc. London Math. Soc. **26** (1927), 257-272.

Department of Mathematics
College of Natural Sciences
Pusan National University
Pusan 607-735, South Korea
E-mail: tyseo@hyowon.pusan.ac.kr